Application Problem 7 Chapter 7

7. For each of the following independent situations, complete the table by computing the dividend payment and accumulated E&P at the beginning of year 2.

	
	Accumulated

E&P 1/1/

Year 1
	Cash

Distribution
	Current

E&P
	Dividend

Payment
	Accumulated

E&P 1/1/

Year 2

	Situation 1
	$190,000
	$100,000
	$150,000
	
	

	Situation 2
	55,000
	100,000
	80,000
	
	

	Situation 3
	(50,000)
	100,000
	133,700
	
	

	Situation 4
	(18,000)
	100,000
	(48,000)
	
	

	Situation 5
	160,000
	100,000
	(42,900)
	
	

	Situation 6
	-0-
	100,000
	(72,500)
	
	

	
	
	
	
	
	


